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SIS 2021
ATt X 1 3
snE  g=RREI2

40132 (B2l @2)
PIITE XIS [F T 5 2 A E U
700 EM-AUSHUHF N 302,573 202,573 100,000
720 LHEHcH 100,000 0 100,000
721 M= 100,000 0 100,000
721-03 JIEFRI AN S 100,000 0 100,000
OgetalH MYz

100,000,000& = 100,000

= o g J 305,733 205,733 100,000




SIHAE 20214
Oll&tXb= + =& 1 3l

37z | LERSEEII2
@ XIEH= (91 &2))
X2 .22 - HH . CR - JRAY - BES N JIE X&% | Husd
3 7/2 ) 305,733 205,733 100,000
e 305,733 205,733 100,000
WSS (HHTAD) 305, 103 205, 103 100,000
EHIS(L=DRE03) 305,103 205,103 100,000
L=DRERDI2 o) 205, 103 205,103 100,000
602 0lxI2 305, 103 205, 103 100,000
01 ABR= 100,000 305, 103 205, 103 100,000
onigels oga
% 305,108,0008 - JI% 205,103,008 = 100,000
1o o A 305,733 205,733 100,000
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ST © 2021
Ofl&FRF @ 2 1 3
TR ¢ SEMHHIEIIZ(SHAHE)
A= CHR M)
=252 4-glo I = & E U
700 STSLSLURHY 20,069,100| 12,364,100 7,705,000
720 LHS e 14,054,000/  6,349,000| 7,705,000
722 O BLHSD 14,054,000|  6,349,000| 7,705,000
722-01 0|34 14,054,000/  6,349,000| 7,705,000
OFX& SLalH
21E 13,660,000,00024
- JIX 6,169,000,0002 = 7,491,000
OAZOHE S5
23 394,000,00024
- J13 180,000,0008! = 214,000
o g 3 20,162,935| 12,457,935| 7,705,000




SIHMHE 20214
OlatXt=s @ =3 1 3
JHTE - SEMIHPIIZS(SEAHE)
@ X&sAHE (e &)
AE .2Z2 - FM .2 - JIRAS - HE= A=A Jd X=X Hlunsz
plE S 20,162,935| 12,457,935 7,705,000
UL 20,162,935| 12,457,935 7,705,000
TS (71210l AFDF) 20,162,935  12,457,935| 7,705,000
BHEXNE(SEMEUHEIDIIZ2(SEHE)) 20,069,335 12,364,335 7,705,000
L=FSUNES 20,069,335 12,364,335 7,705,000
602 0fIXI2 20,069,335 12,364,335| 7,705,000
0 BRI 7,705,000 |  20,069,335| 12,364.335| 7,705,000
ouges o122
&3 20,069,335,000& - J|& 12,364,335,000& = 7,705,000
A 2 & A 20,162,935 12,457,935 7,705,000
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eI ¢ 2001

Ol&tXt= 0 F=F 1 3
SIHTZE - SEMIAHFIIIS(MHEHESHEA)
201718 (e9l: @)
BBEs aold | J|™eY =2 A B
700 EM-AUSHUHF N 8,007,800 3,007,800 5,000,000
720 LHEHcH 5,000,000 0 5,000,000
721 de=z 5,000,000 0 5,000,000
721-03 JIEFRI AN S 5,000,000 0 5,000,000
OBl M=
5,000,000,000& = 5,000,000
= o g J 8,054,721 3,054,721 5,000,000
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SIHRIE 1 2021
GRS - %2 1 3
SIATE | SEHHOTEIIS(HHLEHE)
® A (9l @g)
A& - 232 . M. L2 - JIRAIY - BES A=A JE XN=H Hlunsz
T 8.054,721|  3.054,721| 5,000,000
ouBran 8,054,721  3.054,721| 5,000,000
TSRS (71210/14+DF) 8.054,721|  3.054.721| 5,000,000
BETIS(SEWEAHEIIZ(HEAHHHT)) 8,054,721  3.054,721| 5,000,000
SHTS 8,054,721  3,054,721| 5,000,000
602 0IxI2 8.054.721|  3.054.721| 5,000,000
01 wsiizl= 5.000.000|  8.054.721|  3.054.721| 5,000,000
otises 0122
2 8,054,721,0002 - JI% 3,054,721,0008 = 5,000,000
N s & o 8.054,721|  3.054.721| 5,000,000
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